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N PRELIMINARY EXAMINATION 2018-19
- o : 7, 2019
Subject: Biology L %ate: ‘ia:::g
'XA R me: o .
suls ' {Plus 15 minutes reading time)
| Marks: 80 N
Answers fo this Paper must be wiitten on the paper provided separately.
You will not be allowed to write during the first 15 minutes.
“This time is to be spent in reading the Question Paper.
The time given at the head of this Paper is the time allowed for wri!fflg“ the answers.
Attempt all questions from Section | and any four qdestions:fmm-S'ectlQ{t :
The intended marks for questions or parts of questions are given in brackets [].
This paper consists of 7 questions on 12 pages. .
Section 1 [40 Marks]
M R T - "'“’ﬂ'ttenip‘t’aﬂ'questidns from this section.-
Question 1 o -
a) ~ Name the following: =~ : ) ot i 5]
- )" Origin of new species by gradual modification.
i) " Chromosomes that bear genes for all body characteé other than for sex
determination. :
()" Plant hormone which stimulates growth by cell division.« S
i ’ :
@)  Soluble protein in blood plasma that helps in blood clotting.
, Ey)/ “‘{‘uﬁ-oftzp'qﬂérﬁe_s'bcatedwithin fhe Bowman's capsule.
s q Lb) state whether the following statements are True or Fa]se. If False, 5]
e - ui)/ 'ewrite the correct statement by changing the underlined word(s). ...

. - Heais an organic constituent of urine. B
' II"{ - Corpus futeum connects the two 6erebral hemispheres o
AMRIcA
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Presbyopia is comected by convex iens. ,7,;43-;?’ i i

posed by Charles
Theary of inheritance of acquired characters was Pl'°
Darwin.

&Mmis the membranous covering of the he?r,t',,‘_;,i'} (3

Write the location of the following part: L : 2

Mitral valve

Loop of Henle

‘ﬁ - ¢ ondii
". ) ..’"‘.ﬁ-' .
CerEbe“um | \&“ah‘” ;: ’ ; .h.-‘ Ja\")| : ; ﬁ v
- . ane 3 ShDP uc . -. 2 b |
Conjunctiva - \ Tt :
‘ Myt ’\;: . d
Uterus Mob.%&'f“ "AE, |

e A m e e e e

leferentlate between the followmg on the bas!s of lnstructlon's leen | 8]
in the brackets, :

Clinostat and Ganong' sPotometer (use)

Homo erectus and Homo habiiis ( Cramal Capacity)

Thlgmotroplsm and Hydrotropism (Meamng)
_Stroma and Thyllakoid ( Phase of photosynlhesis) _

Chordae tendinae and Suspensory ligament (function) .

Givm‘helnw*are five sets, with four terms each In each set, one term I5)
is odd and cannot be grouped lnto the category to which the other

-three. belong. Identify the odd one in each set and name the category
to which the remaining three belong.

Adenine, Thymine, Histamine,Guanine

Nerium, Banyan, Cactus, Elodea.

Cerebrum, Hypothalamus, Medulla oblongata, Thalamus
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(ill-)/ Choroid, Amnion, Iris, Sclera
UV) Simple goitre, Cretinism, Acromegaly, Myxoedema.

Select the correct answer out of the four available choices. 5]

P \W/ The diagram represents some human organs and their blood vessels.
‘ Which blood vessel will have maximum concentration of urea after a

protein rich meal?

e
(T\B

(L |
I =%

UH)/' In case of peppered méth '(Bféton betularia) the black coloured form
became dominant over the light coloured form in England during industrial -
revolution. This is an example of: _

A . Inheritance of darker colour character acquifed due to the darker
environment. |

B ProtecﬁVe mimicry.

Cc Appearanoe of the darker coloured individuals due to very poor
sunlight.

D Natural selection whereby the darker forms were selected

| U‘{ Root pressure is maximum when:

A Transpiration is high and absorption is very low
B Transpiration is very low and absorption is high -
- Tafgezeey - ©. Transpiration is very high and absorption is high _

s D Transpiration and absorption both are low

AMRM A R0t
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V) Stomata of a plant open dus to

Influx of potassium ions
Influx of hydrogen ions
Effiux of potassium ions

OO m >»

Efflux of calcium ions

v

ldenﬁfy the parts of the female reproductive system

Ovary | Uterus [ Oviduct Vagina
A |2 4 5 7
B |1 3 4 2
C |3 1 15 6
D |4 3 7 5
g) Mention the function of the following. )
e ot . [5]

W)‘/ i.eydig cells; N |

'(M/ Glucagon . g e
W(l-( Eustachiantube
\P(Méninges T

ARAMMIIrFre ™MmAaAmis osmem o
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Given below are five sets of terms. In each case, arrange and rewrite 51
each set of terms in a logical sequence...

Cortical cells, Root halr, Soil water, Endodermis, Xylem. -
Karyokinesis,S-phases,Cytokinesis,G1 phase,G2 phase.

. Motor neuron , Receptor , Sensory Neuron, Effector, Association neuron.

Ovum, Graafianfollicle, Uterus, Ostium, Fallopian tube.
Cochlea, Tympanum, Pinna, Auditory canal, Ear ossicles.

Observe the diagram and answer the questions that follow.

Section Il [40 Marks]
. Attempt any four questions from this Section

Explain the terms 5]

Guttation:

Natalty .

Noise pollution.

Gene

Photophosphorylation

Given below is a stage of mitosis observed in an animal cell,

2\

State the characteristics of the given stége of mitosis.

Draw a neat labelled diagram of the previous phése.

M/Where does this type of cell division occur in plants?
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iy How many daughter-cells are produced after mitotic cell division?
\i o Explain cytokinesis in animal cell.

WA Mention two functions of the centromere.

Que§g6§3
LA

Given below is the cross section of an artery. Observe the diagram  [5]
and answer the questions that follow.

@

Why does the bIood in an artery ﬂow in spurts?
'l

NamethepartsA BandC .= == = e =
./ =

\/(m) State two structural features of the blood vessel,
\,,(ﬁﬁ/ Whatis a pulse?

l/ Define Hypertensnon

/e‘ What is the functlon of coronary artery?

Observe the diagram of the urinary s

ystem and answer the
questions that fqllow. .

53

.\

AMBIKA RDOK DEPOT’*‘_’ !
Shop MNo. 1, Ranaoli, Vasant: Utsav. .
Thakur Vitlag :, Kandivali (E), ,
Mumai - -400 101.
Mob. 9821263050, . =

. \/(;?/ Why is the right kidney'slfﬁhlly lower than the left kidney?

6
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State two functions of kldney
Wh‘cﬂ type of blood is carried by biaod vessel X?
Mention the function of the part labelled Y.

 How does ADH control concentration of urine?

Explain the term 'Uremia'.

Question 4

a)

vb)'?

o Y

agrantiz; -
A L

ot
-tie

Rt

Ina homozygous pea plant, green pod colour is dommant over [5]
yellow pod colour. |, .

j‘
What are the phenotype and the phenotype ratio of the offspringin F2
generation? : ‘

Explain the Iaw'of segfogalion of gametes.

“Why did Gregor Mendel select pea plant for hls expenments on’

inheritance? -

- Is the above cros‘so Monohybrid crosgs or a Dihybrid cross? Give a -

reason for your answer.
State the genotype of the F1 generation.
Define the term Allele. . .

Give scientific reasons . | - . .' : | [5]

Abscisic acid is referred as a stress hormone,
Gametes have haploid number of chromosomes,

Balsam plants wilt during midday,even if the soil Is well -
watered. .

Walls of ventricles are thicker lhan atrium. - S Rt

Use of CFCis banned in many counlnes AMR ;(
) . Shop !"o 1 pEQP{S,En‘fE -
sau
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a) In an experi .
the seadling stac. -, °f the rlght hand plant was treated, from 53
left plant wag ;‘;19:' :_‘ ret_g_slar interval with a plant hormone. The |
- <l Untreated control, i )
represents the results after the The picture given below

experiment,

cli, Vasant, :Utsav,
¢, Kandivali (E),

, Rana
Thakur Village.
Mumbai - 400.101."
- Mob. 9821263050,

Shop No. 1
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m/ Which plant hormone was

What was the effect of the plant hormone on the white cabbage?
What is the site of synthesis of the mentioned plant horrane &
plants? | Y | S ed Plant:hcAa_r_mone in higherA

(s
@y Define Parthénocérp}( a .
A7)

Why is this plant hormone com_t_ﬂqnijr used in bfe_wing industry?

(W~ Why are synthetically prepared

plant hormone mentioned in (i) above
used on fruits? P et .
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' \b}/ Given below is the diagram of the human male reproductive

:yStem. Observe the given diagram and answer the questions that
ollow. '

)
v = H
-7 Where are sperms produced in the testis?
in)’ “Choose the correct option. T -
SO EURIN i * AP I AR
‘ A Prostate gland - | Seminal Vesicle | Cowpers gland
B Seminal vesicle Prostate gland | Cowper’s giand
C Prostate gland Cowper's gland | Seminal vesicle
D Seminal vesicle | Cowper's gland | Prostate gland

b
(oY
v)
o
(vi)

i

What is the function of seminal vesicle?

State the location of prostate gland. - .

Why-are millions sperms released in a single ejaculation?

Give the technical term for surgical cutting and ligation of sperm duct.

Name the site of sperm maturation.

Sy
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Question 6 |
a) Given below is an experimental set up used to study a process. s
Observe the set up and answer the quesﬁon s that follow.
w o v F * 3
{4
 Initial level.
sugar solution
Water i3
Cellophane paper —etit
A )
) - Define the process,
(i) Mention the observation that occurred after a few hours. . .
(iii) Suggest a suitable control for the experiment.
- (iv) Ifthe setup is ¢ompared with 3 Toot hair céllIWﬁét'W6uld'tﬁe"félldw:'ﬁg‘“"‘ e
: Tepresent . _ e )
a) Cellophane 'f)ap‘ef'T '
b) Sugar solution -
(v) Draw a neat labelled dlagram of a root hair cell rf excess chemical |
fertnllzers are added to the soil.
(vi) How are mineral ions absorbed by the root hair cell? - .
b)  Answer the following questions - BT . | -

()  Differentiate between .
| Australopithecus and Cro-magnon (Face and Eyebrow ridges) |

W Mention any four CharactéfiStiCS of Neanderthal man.
(iii) -Wrrte charactenstm of Apes on the bas:s of :

- 1) Dental arch
- 2) Simiangap -

(V)  Whatis the aim of Swachh Bharat Abhiyan?
AMBIKA RO DEPOT

Shop No. 1, Rangsli, Vasani Utsay, . =
Thakiir Viillaes (Wandaeali (FY. 10 {
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a)  The dlagrams glven helow show four experiments used to (5
Investigate the conditions needed for a process In plants. Four wall
watered destarched green plants were placed In glass holl jars,
which were sealed onto greases glass plates. The soll in each pot
was covered with a polythene sheet. Each apparatus was then
subjected to different environmantal condlitions, Observe tha
diagram and»an'swer the questions that follow. -

Question 7.

ExperimentA - : Experiment 8

* Bell Jar covered In thick black paper + Beaker contalns a chemlcal that

+ Beaker contalns a chemical that - produces carbon dioxdde
produces carbon dioxide

=

; Experlment c - Experiment D
" |+ Beakercontalns a themlcal Ihatabsorbs = - Bell jar covered in thick black paper
carbon dicndde - - Beakercontains a chemmithatabsorbs
: carbon-dioxide

M Name the physiological,process studied in the experirﬁent

() Write a balanced chemlcal equation to explaln the physiologlcal ) =

process,
(i) Wh.lfh set up would show the Increase in biomass?
AMBIc 2 moen
. Shop He. 4. 7 11
Thakur Vil i
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(iv)

Oamitacas amgare
Name the chemical that
(v)

absorbs carbon dioxide,
What would be your observa

tested for the presence of st

tion if the ieaves from each set up were
arch?
(Vi)

Wthh chemical ls used to detect the presence of starch?
(vii) What IS meant by destarched plant?

b) With reference to the endocrine glands in tha human body. Answer
the following questions.
(1) Draw an outline of the human body and mark the lomhon of:
1) Pancreas - -
2) Thyroid gland
3) Pituitary gland
(ii)..___ State one function of S L
1) Thyroxine : SR ’
2) Adrenaline ’
- o 3
(i) Write the complete form of: Qg
: MYz ==
1) ACTH ‘ Eﬂ n3e
2) TSH SEELE .
©E S8
ot e <=T 28
o A |
(iv) State the cause of: : © g2 =
1) Adrenal virilism . <
_ 2)"Diabetes mellitus
X
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